Bellwork  Alg 2A  Thursday, October 13, 2016
1. State the Domain and Range of the graph below.
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- /é Domain:
"\ e
\ A4
T T 17 Range:
N v
2. Use these functions: g(x) = x? + 4x h(w) = %Jféi k(c) =3c-1
a) Find A(=7). Simplify your answer . b) Find 5g(3)
c) Find cif k(c) = 23. d) Find g(m — 3). Simplify your answer.
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2. Use these functions: g(x) = x? + 4x h(w) = % k(c) = 3c—1
a) Find A(=7). Simplify your answer . b) Find 5g(3)
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c) Find ¢ if k(c) = 23. d) Find g(m —3). Simplify your answer.
23 = 3c-| - ﬁ(”" 3y = (m-3T pd(m-3)
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